4.3 Composition and Operations on Functions

PRACTICE

For 1-4, use the graphs of the functions fand g.
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1. Sketch a graph of (f + g)(x)
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2. Sketch a graph of (g — f)(x)
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Find the indicated function value, if it exists, given f (x)‘ =2-xand g(x) =vV3 —x
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For §-10, use the tables of the functions fand g.
x f(x) x g(x)
-7 5 -7 4
2 9 -2 10
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Find the functionsof f + g,f — g, fg, and f, and find their domains.

11. f(x) =4x —3and g(x) =x + 1
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12. f(x) =3xand g(x) = x*—4

f+g=’bxl'7cl_+ Domain:(—""(""’j

_ (-4
f—g=’3x {-l ) Domain (_ao,c-nj
Ix-x ¥
fg= 2x (\"'0 - Domain: (-C"’/“"‘\j
£ 3K Domain:
g <-4 (_d?,_lﬁt-l-'rﬂ(]‘}wj

Find the (f © g)(x),(g © f)(x), and find their domains.

13.f(x)=x+2andg(x) ==
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14. f(x) =v4—xand g(x) = x*
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Express h as a composition of two simpler functions f and g

15. h(x) = (2x—7)*
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REVIEW SKILLS
Use the quadratic formula to solve. Express vour solution(s) in exact and decimal form.
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